50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN

Time: 3 hrs.

Note:

4

PART - A
er%g List the different me%ﬁ@@s of dewatering and explain
& (10 Marks)

a. Discuss the objectives of de

any one of them with neat sk"et
b. By conducting a Selsmlc%fractlon study the followir
Time (; » 10.1]02]03 |04, 4). 510.50 | 0.55
Dlstang% 40 | 80 | 120 | 160 1200 | 240 | 280
Geophones are pl’ac ,at a spacmg of 40m in.a straight line and the time taken for the last
wave to be rece’i’Ved t each geophone is g;ﬂven; what is the velocities of wave in soil layers?
What is the thlckness of the top stratum? (& %4 (10 Marks)

a.

(10 Marks)

b. 9 ‘buted load of 320 kN/m Fmd
the 1nten51ty of vertlcal pressure at a depth of 4. 2m ]

Boussinesq equivalent pomt load method (10 Marks)

a. Explain with neat sketchaﬁ%;nethod of locating thgpﬁreatlc lme ina &omogeneous earth dam

with horizontal filter. o (08 Marks)

b. f 11.0m on the upstream.

A concrete dam fi (%(b) 17.5m base retﬁfhs water to a lev *
The water lev @éthe downstream ij: "0m. The 1mperv1oa“§ﬂ stratum is 10.0m below the
dam. The coe Bnt of permeabilit %1 x 10®°m/sec. If dam is 50m long compute total
quantity of seepage flow per day below the dam. Als%ﬂéjmpute seepage pressure at point P,

(12 Marks)

R G S S G R o

;tw;/:c.‘h\/;au& S-hwdum

a. Explain Rebhann’s gr‘ap)h\“i"eal method for determining active earth pressure on the basis of
Coulomb s theoryi’"‘j (08 Marks)

O=265 ; &" &\9565 and ¢ = 30°. The water table lies at 3m depth The surface of back fill
is horlzontal@and cames umform surcharge of 1ntens1ty 14kN/m?. Determme total active

(12 Marks)
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5 a. Discuss the stability of finite slope by Swedksh&%ethod of slices for acohesive frictional
soil. Ve "% (06 Marks)

. Explain the Fellineous method for stabllmy%nalyms of slopes. % (06 Marks)

c. An embankment is to be constru e%\ﬁﬁth a soil having C = 21§,)kN/m ; ¢ =10° and

= 19kN/m’. The desired factor c%fe?y with respect to cohegion as well as friction is 1.5.
Determme AN

1)  Safe height of the desires

ii) Safe angle of slope 1f ﬂ1

ope 1fslope is2Hto 1V.
desired height is 15. }Eor% =" H)" stability numbers are as

follows : L (08 Marks)
Stability No. [ 0.040.0:08
Slope angle | 20° | 30°
6 a. soil. (04 Marks)
b. Explain standard penetratlon test and its CW tions. (08 Marks)

c. A strip fgdfa%g@m wide carries a load m,tens1ty of 400 KPa at a depth of 1.2m in sand. The
saturateﬁ t welght of sand is 19,5 kN/m and unit welght above water table is 16 8kN/m’.

followmg locations of water table.
i) Water table is 4m below, grotnd level.

ii) Water table is 1.2m b '3"0 ground level. (08 Marks)

7 a. Write a note on settleme f footings. 4 (10 Marks)

b. A saturated clay 8m ‘thick underlies a f g. The existing overburden
pressure at the céntre of clay length lsﬁ;O@wa and load duw%a new building increases the
pressure by 26&@ The liquid limi ,%he soil is 75%. Water content of soil is 50% and
the spe01ﬁc %av"%' of soil is 2.7. Estim: i (10 Marks)

(06 Marks)
(06 Marks)
(08 Marks)

ke kk
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